Subject: Re: Applying weights to multilevel hazard analysis using Cox regression
Posted by Ugonna on Fri, 21 Jan 2022 20:17:03 GMT

View Forum Message <> Reply to Message

Thanks for the follow-up response.

But since | used this "svyset v021, weight(wt2_1) strata(v022) , singleunit(centered) || _n,
weight(wtl_1)" to apply the survey design, I'm wondering where I'm supposed to apply this
"genwt_1=wtl 1*wt2_1". Given that | don't have "wtl_1*wt2_1" anywhere in my command.

Page 1 of 1 ---- Generated from The DHS Program User Forum


https://userforum.dhsprogram.com/index.php?t=usrinfo&id=9322
https://userforum.dhsprogram.com/index.php?t=rview&th=11480&goto=23964#msg_23964
https://userforum.dhsprogram.com/index.php?t=post&reply_to=23964
https://userforum.dhsprogram.com/index.php

